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1-which of the following radiation has positive energy

a)-alfa rays . g
b)-beta rays a.;xlleqbﬂ
c)-gama rays

d)-x_rays bt
e)- none of these
particle L&l 4¥ Uaa Sla Gu W 5K Gus 5LA AT 560 Glsall ag,8L

Answer: A

2-a cube has a side of 4cm . it has mass of 256 gram. What is the density in Sl unit
a-)5"10-3 kKg/m3  Aez - o 254 9

b-)3*103 kg/m3 X2 Yyls?

c-)5*102 kg/m3 ) c

d)2:103 kg/m3  J. 2 - = 2EC

213
e-)4*103 kg/m3 Vi unsY)
Answer:E 2
= Yxlo

3- What is the hight to which water rise in a narrow tube of radius 0.4 mm, if the coefficient of
the surface tension for water is 7.2 *10-2 N/m and the contact angel is zero degree

a-)3.6 cm
b-)0.72 cm holcose

c-)1.8 cm Fov

d-)0.96 cm B

e-)4.5 cm - 2 w32xox 32 _ 0.036
—(T”;é)(75)( L}“‘?_ﬂ > 3.4decm

Answer: A

4-A convex tens has focal length 20 cm , calculate at what distance from the lens should the
object be placed so that it from an image at 30 cm on the other side from lens

a) (-40) cm \ \

b) 60 cm ‘7 - 7
c) 40 cm g ) ,
d-)(-60)cm - - = "=
e-)(-20) cm L
A5 TS
Answer: B s 067
= so e

5- A wire of nichrome has a radius of 1 mm and length 2 m , the resistivity of nichrome is
1.08*10-6 ome.m , find the current if the potential difference is 10 V

921A

b) 14.5 A 2

c)12.5 A

d18A L IE gL

€) 6.8 A oty .

Answer: B ZT S, T essT
T sl
-~ 7 2 o658



6- calculate the volume of the displaced water to keep a person of a weight 700 N in a
swimming pool

a)0.08 m3 L - fg
b)0.04 m3
€)0.07m3 Sy -
d)0.05 m3 V7 %5)
€)0.02m3 .

Vs 6. o7
Answer: ¢

7- A large storage tank open at the top and filled with water,if there is a small hole in its side
at a point 3 cm bellow the water level determine the speed at which the water leaves the
hole , consider the speed of water at the top is zero .o /£ » /37 stmesphs’ic pressue

a)1.5m/s fobwm 6(//3 L . Lo
= t ) 4z 7/5 +79%9 A4

b)5.5 !, , 2 -
C)) V2o B \ Ea PRl
) ' V- AD4.8)(0-23) \ v-ze SOy s xSV

2.5
Pebm .
g);; /¢_7£f \‘ 9()4’9[,) = k v
. = | b
2h VXD D
Answer: D 29k @D (003) 161
= 07648

8- water flows through a cylindrical pipe of varying cross-section, the velocity is 4 m/s at a
point where the pipe dimeter is 1 cm, at a point where the pipe dimeter is 3 cm the velocity is

a)1.5m/s |
b)2 Viho = \/? Az

C)033 Yz ¥#nls Vz = %2 -2
d)044 4 a'g)([”'z /ﬁ z 15 xlo )
o) (H)lf)(v-wfﬂ'yz: Uy (/.5110’2] =
Answer: D Vo 7 0. 1Y

9- A cube of aluminum has a cubical hole through its center, if the cube is heated from 40 F to
130 F, what is the fractional increase of the volume of the hole if the coefficient of the linear
expansion for aluminum is 2.4*10-5 K(-1)

* z 3@ ;
a)3.6* 10-3 5. B (F32
b)2.8*10-3 AV = 3F Ve T ! .
©)1.5*10-4 frose
d)4.5*10-3 pv 2 22 T 2o F
€)1.9*10-3 v % S

sV _(3)(2.4215%) 2 PR P
Answer: A Vo . »f 2 52
_ 3 4 xlo

2 en



10- A small artery has a length of 1.3*10-3 and a radius of 2*10-5 m, if the pressure drop
across the artery is 1.5 Kpa, what is the flow rate through the artery (/ blood = 2.084*10-3

pa.s)

a)5*10-11 m2/s .

b)6*10-11 G - L o0k

c)9*10-11 J] ¢ .

d)3.5*10-11 _ (=) (15 ZXQJ/

8)2*1 0-11 ’ (Z)(292711i7(1.3 71573)
=W

Answer: D SRl

11- two cars are initially 150 km apart and traveling toward each other, one car is moving at 70
km/h and others is moving at 50 km/h, in how many hours will they meet
a)2.5 h o

/ \
b)1.2 V£ &
) 5 t Oo—> <«
C)225 }, NG Js T X Vz BO, —X
d)3.5 - ot
)3 o Jod ) e | e 2Pt
e) \L,y 7V ) \" IW _ {ZG&
y(f » Vlé S 7 V;Z‘ _ o
Answer: B ot - ot b e e
+=1.25

12- two point particles, one with charge 10n C and the other with -2nC , are separated by 4m,
the magnitude of electric field nlpdway between them is

b)1 0 */"'"7"!7//?; 245"
)15 A “ _E
d)27 k>
9)12 Z:kﬁ& E:ka Z£ ’Zj
e
Answer: D 10 1o 161 o ol ns
W

13- the velocity of a particle moving along x-axis is given by (v(t)= 4+15t-3t2) m/s, what is the
acceleration of the particle att=1s

a)9 m/s2 “ha

b)15 p

c) 6 2| = west

d) 3 e s =9 /5
e) 12 e
Answer:A



14- a ray of light travels through air( n=1) and approaching the boundary with water (n=1.33) ,
the angel of incidence is 55 degree, determine the angel of refraction

a) 32

b) 20 W, M€ =7y 5762
C) 38 () emEE) = 133 s o,
d)18

e) 10 s 2211)
Answer: C 6 = 3%

15- A particle of q1= 7 nc is located on the x-axis at the point x1= 0.2m, a second particle of
charge g2= -3nc is placed on the x- axis at x2= -0.2 m, what is the total electric potential at

the origin x=0

a) 180V B

b) 900 V AL —=

c) (-900) V |

d) 220 Y’Fw/c, . Y- £2 s v, = 31515
e) (-180) fj’%X;/*)?, vz quectl e
Answer: A Vo) =135 Yo # 395

16- the speed of light in an unknown medium is measured to be 2*108 m/s , what the index of
refraction of the medium

a)1.2 ,

b) 1.6 Y
c)1.5 50 = 2

d) 1.4 L

e) 1.8

Answer : C

17- if a acceleration is ,V is velocity , X is position and t is the time ,then which equation is not
dimensionally correct

a)) t=av ﬂ_) p =z aV )(7 Vlé
b X:Vt t = Vv.v p/
v.r .Sy
c) a=v2/x boa'y Y
d) v=at e Xz X N
e) t2=2x/a t - 2’% “ Z]/} z ZL] V%
[73 4[ ‘

Answer: A i /







